
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Aritmética dos expoentes (expoentes negativos)

(−3) + 2 =2 9 − (−5) =(−1)

(−9) − (−8) = (−3) + (−4) =

(−5) − 6 =(−1) 6 + (−5) =(−1)

(−6) − (−10) =2 9 − (−7) =(−1)

2 − 2 =2 (−4) − 7 =2

(−5) − (−6) =(−1) 7 + (−10) =(−1)

(−10) + (−1) =2 1 − (−9) =2

10 + 3 =2 9 − (−4) =2

1 − (−4) = 7 + 5 =(−1)

(−6) + 6 =(−2) (−8) + (−9) =2
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Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Aritmética dos expoentes (expoentes negativos)

(−3) + 2 = 112 9 − (−5) = = 5(−1)

9
46

9
1

(−9) − (−8) = (−1) (−3) + (−4) = (−7)

(−5) − 6 = (− ) = (−6 )(−1)

5
31

5
1

6 + (−5) = (− ) = (−4 )(−1)

6
29

6
5

(−6) − (−10) = 462 9 − (−7) = = 7(−1)

9
64

9
1

2 − 2 = 22 (−4) − 7 = 92

(−5) − (−6) = = 5(−1)

5
29

5
4

7 + (−10) = (− ) = (−9 )(−1)

7
69

7
6

(−10) + (−1) = 992 1 − (−9) = 102

10 + 3 = 1032 9 − (−4) = 852

1 − (−4) = 5 7 + 5 = = 5(−1)

7
36

7
1

(−6) + 6 = = 6(−2)

36
217

36
1

(−8) + (−9) = 552
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